Math Methods in Physics I

Trof Wladimir Lyra Nov 23th, 2016 Class #26

$$\frac{\operatorname{Pargeval}}{\operatorname{f}(x) = \frac{1}{2} \operatorname{G}_{0} + \sum_{n=1}^{\infty} \operatorname{Gu} \operatorname{GS} \operatorname{Nx} + \sum_{n=1}^{\infty} \operatorname{Sun} \operatorname{nx}$$

$$\frac{\operatorname{f}(x) = \frac{1}{2} \operatorname{G}_{0} + \sum_{n=1}^{\infty} \operatorname{Gu} \operatorname{GS} \operatorname{Nx} + \sum_{n=1}^{\infty} \operatorname{Sun} \operatorname{nx}$$

$$\frac{\operatorname{f}(x) = \frac{1}{2} \operatorname{G}_{0} + \sum_{n=1}^{\infty} \operatorname{Gu} \operatorname{GS} \operatorname{Nx} + \sum_{n=1}^{\infty} \operatorname{Sun} \operatorname{nx}$$

$$\frac{\operatorname{f}(x) = \frac{1}{2} \operatorname{G}_{0} + \sum_{n=1}^{\infty} \operatorname{G}_{n} + \sum_{n=$$

Porsenal theorem states that

$$E^{2} = \sum_{w}^{\infty} |E|^{1}$$
i.e. the energy of the signal is the sum of the energy of the
individual components.
Odd / even trans proves

$$g(k) = \frac{1}{2\pi} \int_{-\infty}^{\infty} f(x) e^{iKx} dx$$

$$= \frac{1}{2\pi} \int_{-\infty}^{\infty} f(x) \cos(kx) dx - i \int_{-\infty}^{\infty} f(x) \sin(kx) dx$$
For odd functions, $f(x) \cos(kx)$ is odd and the integral cancels

$$g(k) = -\frac{1}{2\pi} \int_{-\infty}^{\infty} f(x) \sin(kx) dx = -\frac{1}{2\pi} \int_{-\infty}^{\infty} f(x) \sin(kx) dx$$

$$f(x) = \int_{-\infty}^{\infty} g(k) e^{iKx} dK = 2i \int_{-\infty}^{\infty} g(K) \sin(kx) dk$$
Sublitute $g(k)$ to remove the imaginary factor

$$f(x) = 2i (\frac{1}{\pi}) \int_{0}^{\infty} \sin kx dk \int_{0}^{\infty} f(x) \sin kx dx$$

$$= \frac{1}{\pi} \int_{-\infty}^{\infty} g(k) \sin kx dk$$

$$f(x) = \int_{0}^{\infty} f(x) \sin kx dk$$

For wan functions, here the co-sine

$$f(x) = \frac{1}{\pi} \int_{-\infty}^{\infty} g(k) \cos kx \, dk$$

$$f(x) = \int_{0}^{\infty} f(x) \cos kx \, dx \quad \text{for even functions}$$
A nok on coefficients we derive the relation between the Former
troopfrum and the inverse by the integral
$$f(x) = \frac{1}{2\pi} \int_{-\infty}^{\infty} F(k) \, dk = \frac{1}{2\pi} \int_{-\infty}^{\infty} \int_{0}^{\infty} f(v) e^{i K(x-v)} \, dv \, dk$$

$$= \frac{1}{2\pi} \int_{-\infty}^{\infty} e^{i kx} \, dk \int_{-\infty}^{\infty} f(v) e^{-i Kv} \, dv$$
Then we defined the fourier pair
$$g(k) = \frac{1}{2\pi} \int_{-\infty}^{\infty} f(v) e^{-i kx} \, dx \quad and \quad f(x) = \int_{-\infty}^{\infty} g(k) e^{i kx} \, dk$$
The constraint is that when multiplied the coefficients must multiplied
f(x) = \frac{1}{2\pi} \int_{-\infty}^{\infty} f(x) e^{-ikx} \, dx \quad f(x) = \int_{-\infty}^{\infty} g(k) e^{i kx} \, dk
$$g(k) = \int_{-\infty}^{\infty} f(x) e^{-ikx} \, dx \quad f(x) = \int_{-\infty}^{\infty} g(k) e^{i kx} \, dk$$

$$g(k) = \int_{-\infty}^{\infty} f(x) e^{-ikx} \, dx \quad f(x) = \int_{-\infty}^{\infty} g(k) e^{i kx} \, dk$$

The line are used in the literature.
Application to Reisson equation to the gravitational potential

$$\begin{aligned} & g = -\frac{GM}{r^2} \qquad & fg dA = -Gn \int \frac{1}{r^2} dA = -4\pi GM \\
& M = \int \rho aV \qquad & fg dA = -4\pi G/\rho dV \qquad \int \nabla g dV = -4\pi G/\rho dV \\
& \nabla g = -4\pi G\rho \qquad & vec g = -\nabla \phi \\
& \nabla^2 \phi = 4\pi G\rho \qquad & vec g = -\nabla \phi \\
& \nabla^2 \phi = 4\pi G\rho \qquad & eff 4\pi G = 1 \\
& \nabla^2 \phi = \rho \\
& \frac{3^2 \phi}{3x^2} + \frac{3^2 \phi}{3x^2} + \frac{3^2 \phi}{3x^2} = \rho \\
& \frac{3^2 \phi}{3x^2} = -\frac{g}{3x^2} + \frac{3^2 \phi}{3x^2} = \rho \\
& \frac{3^2 h}{3x^2} = -\frac{g}{2} K_n^2 \phi_n e^{iK_n x} \\
& \frac{3^2 h}{3x^2} = -\frac{g}{2} K_n^2 \phi_n e^{iK_n x} \\
& \frac{3^2 h}{3x^2} = -\frac{g}{2} K_n^2 \phi_n e^{iK_n x} \\
& \frac{g^2 h}{3x^2} + \frac{g^2 h}{3y^2} + \frac{g^2 h}{3x^2} = \rho \\
& \frac{g^2 h}{3x^2} + \frac{g^2 h}{3y^2} + \frac{g^2 h}{3x^2} = \rho \\
& \frac{g^2 h}{3x^2} = -\frac{g}{2} K_n^2 \phi_n e^{iK_n x} \\
& \frac{g^2 h}{3x^2} = -\frac{g}{2} K_n^2 \phi_n e^{iK_n x} \\
& \frac{g^2 h}{3x^2} = -\frac{g}{2} K_n^2 \phi_n e^{iK_n x} \\
& \frac{g^2 h}{3x^2} = -\frac{g}{2} K_n^2 \phi_n e^{iK_n x} \\
& \frac{g^2 h}{3x^2} = -\frac{g}{2} K_n^2 \phi_n e^{iK_n x} \\
& \frac{g^2 h}{3x^2} = -\frac{g}{2} K_n^2 \phi_n e^{iK_n x} \\
& \frac{g^2 h}{3x^2} = -\frac{g}{3x^2} K_n^2 \phi_n e^{iK_n x} \\
& \frac{g^2 h}{3x^2} = -\frac{g}{3x^2} K_n^2 \phi_n e^{iK_n x} \\
& \frac{g^2 h}{3x^2} = -\frac{g}{3x^2} K_n^2 \phi_n e^{iK_n x} \\
& \frac{g^2 h}{3x^2} = -\frac{g}{3x^2} K_n^2 \phi_n e^{iK_n x} \\
& \frac{g^2 h}{3x^2} = -\frac{g}{3x^2} K_n^2 \phi_n e^{iK_n x} \\
& \frac{g^2 h}{3x^2} = -\frac{g}{3x^2} K_n^2 \phi_n e^{iK_n x} \\
& \frac{g^2 h}{3x^2} = -\frac{g}{3x^2} K_n^2 \phi_n e^{iK_n x} \\
& \frac{g^2 h}{3x^2} = -\frac{g}{3x^2} K_n^2 \phi_n e^{iK_n x} \\
& \frac{g^2 h}{3x^2} = -\frac{g}{3x^2} K_n^2 \phi_n e^{iK_n x} \\
& \frac{g^2 h}{3x^2} = -\frac{g}{3x^2} K_n^2 \phi_n e^{iK_n x} \\
& \frac{g^2 h}{3x^2} = -\frac{g}{3x^2} K_n^2 \phi_n e^{iK_n x} \\
& \frac{g^2 h}{3x^2} = -\frac{g}{3x^2} K_n^2 \phi_n e^{iK_n x} \\
& \frac{g^2 h}{3x^2} = -\frac{g}{3x^2} K_n^2 \phi_n e^{iK_n x} \\
& \frac{g^2 h}{3x^2} = -\frac{g}{3x^2} K_n^2 \phi_n e^{iK_n x} \\
& \frac{g^2 h}{3x^2} = -\frac{g}{3x^2} K_n^2 \phi_n e^{iK_n x} \\
& \frac{g^2 h}{3x^2} = -\frac{g}{3x^2} K_n^2 \phi_n e^{iK_n x} \\
& \frac{g^2 h}{3x^2} = -\frac{g}{3x^2} K_n^2 \phi_n e^{iK_n x} \\
& \frac{g^2 h}{3x^2} = -\frac{g}{3x^2} K_n^2 \phi_n e^{iK_n x} \\
& \frac{g^2 h}{3x^2} = -\frac{g}{3x^2} K_n^2 \phi_n e^$$

Extre ordert homework, somple the wavectors?

L' wave we chor, defines the direction of propagation See cosine Set: $\cos i M R$ $f(x) = \cos (x)$ $f(x) = \cos (x - \pi / 2)$ -2π $\nabla = 0$ K = 0 K271→<u>317</u> 7 <u>3</u>7) → π Both the electric and magnetic fields are perpendicular to the direction of motion the nove is transverse. What do all get from Founday and timpiere laws? $\frac{1}{2} \frac{1}{2} \frac{1}$ $i K x \hat{q} B = -\frac{1}{c} i \hat{u} \hat{q} \in \int K \times B = - \omega \in C$ $K_{\lambda}E = \frac{\omega}{c}B$ $kxB = -\frac{\omega}{c}E$ Dot this with E $E \cdot (K \times E) = \frac{1}{C} = \frac{1}{C} E^{B}$ K. (EXE) = iw E.B E and B are / E·B=10

PK → → K

Brevel theorem for Forner integrals

 $\overline{g}_{1}(\mathbf{k}) = \frac{1}{2\pi} \int_{-\infty}^{\infty} \overline{f}_{1}(\mathbf{x}) e^{i\mathbf{k}\mathbf{x}} d\mathbf{x}$

Multiply by
$$g_2(k)$$
 and integrate in k

$$\int_{0}^{\infty} g_1(k) g_2(k) dk = \frac{1}{2\pi} \int_{0}^{\infty} \left[\int_{0}^{\infty} f_1(k) e^{ikx} dx \right] g_2(k) dk$$

$$\frac{1}{2\pi}\int_{-\infty}^{\infty} \frac{1}{f_1(x)} dx \left[\int_{-\infty}^{\infty} \int_{2} (k) e^{ikx} dk\right] = \frac{1}{2\pi}\int_{-\infty}^{\infty} \frac{1}{f_1(x)} \int_{2} (k) dx$$

$$\int_{-\infty}^{\infty} \overline{g_1}(k) g_2(k) dk = \frac{1}{2\pi} \int_{-\infty}^{\infty} \overline{f_1}(k) f_2(k) dk$$

$$\begin{aligned} & \xi + f_{1} = f_{2} = f \text{ and } & \xi_{1} = \xi_{2} = g \\ & \int_{-\infty}^{\infty} |g(k)|^{2} dk = \frac{1}{2\pi i} \int_{-\infty}^{\infty} |f(k)|^{2} dx \end{aligned}$$

Porseval theorem

Think of a vector V. As seen in coordinate system S with basis vector E;, it can be written

$$V = \sum_{i} V_{i} \hat{e}_{i}$$

where V: are the components of V in S. As seen from another coordinate system S' with basis vectors e', it has a representation

$$V \geq V_i \epsilon_i$$

drisusly the length of the rector is independent of the coordinate system used to represent it. In other words, we must have

$$\sum_{i} V_{i}^{2} = \sum_{i} \left(U_{i}^{1} \right)^{2}$$

Proceeding with the analogy for a function fix) one can have a position space representation in 6-function basis as

$$f(n) = \int f(n) \, \delta(n-n) \, dn$$

where the "component" of f(x) along the "basis vector" S(x-n') is f(f) and we sum over all the possible axes. One can look at the same function in Fourier space representation as

where e-iKX are the "basis vectors" and g(k) are the components of the). along these basis vectors. You avoid then agree that $\int |f(x)|^2 dx = \int |g(k)|^2 dk$ So, Porceval theorem is just the restatement of the invariance of the length of a vector, independent of the representation used. In an acce it means that the energy in real space is equal to the energy in Frontier space. Image processing example Convolution these Next dam-Lineanzation